fitzk MEZHOFMOBREBEMHLETEZLRIOHEIIHT 2REEDFTH

MG /) sy ORI 9 D "t

FEZ M D Y
it 72 e o> 57 1 : T m
(—) AARER MR LD TREFSREEREE | 15<0. 33U S DI A 0. 6=TIs/H>
W OTHEZEEEE)  (19964F/K, 201 14ERR) q<0.5 70 1.0=q
(—) BARBERGRICLD BEFEsm a2
2k 12 L 0 IRET S HERC ) L CITEOME TUT Y
PEATER L TV D 2 & 2T % ik
1. 0=1/I,
3D
(—/) BARBESSEICL D TSk =2 7 Is/15<0. 5 0.3<
U — NESEBED OMESHIELE] [ZEDD [H2K i T DS DA oSy
sl kO TFE3REZEE] (1990 CpSp<0. 15
k] ROY THE3RZHE]  (19904EhK) <1 95
1'25<CT'SD
(—) AARBEN S LD TBEsEm a7 | 1s/15<0. 5 X% L O=Tg/Tge >
U — MEREY OMEZW L] IZED D 152K Cry* Sp< EHEUSNOHEE | 0.3-72:G-U=
ZWE] KO THE3RZMNE]  (20014EhR) 0.15-72+G-U Cry*Sp
(—) BARBERGSIC LD [BEFEE 8L o
Y7 U — NEREMOMEBRERE TEDD (8| 1/14<0.5 | ELHUSNOHRE LO0=Tg/Tg
2B Y TH3kelrsl  (19834E/R)
. Io/T5<0. 5% 1% LO=TIg/Igph>
Eggéﬁfﬁﬁwﬁﬁémig gﬁ#ﬁ@ﬁm Cr-$p<0.125- | ZEAVSNDEE | 0.25-2-G-U=
BEFEEekin=r 7 U — & H 7.G-U Cr+S
S OMHEB WL 10ED 5 — - o<1T/1D -
2L RO TR IR s/ 150 0. U= L5/ s
%1 (19974R) %f%i‘;#ﬂgﬁ CreSp<0. 14+ | EHELSNOEE | 0.28-2-G-U=
Z'G'U CT.SD
) To/Ts<0. 5% 1% 1. O= T/ TsoPo
() RAREGER S & D %E”ﬁﬁﬁ@ CrosSp<<0.125+ | £ IS DHA | 0.25-7-R, -G U=
BEfFeE sk 7 ) — b [77H 7+R.*G-U Cru*Sp
EWYOMBEZWIELE] [ZEDD
o BIE ] Ot T8RS PO — Is/Tgo<0.5X 1% 1O=Ig/Tgg?D
W1 (20094EKR) @EA CrysSp<<0. 14+ | AP D4 | 0.28 2R -G-U=
7 7°R,+G-U Cru*S)
< N
RPN 55 O S AR T AL EROSXE ) mrpsona | izoqu >
(—) BARBEG S RIC LD BT L X v
A N 2 7 ) — NSRS OftEZ WS (12 B B L0=1/1
ED D HEIRZWNEIC L W RET D HEEICKR LT T TS s0
DM EME 2 TEE L TV D 2 & 2R+ 5 Hik
<T1./1«
() AR AT £ 5 BT L% v | 19/15<0. 533 0=
ikﬁ@;é@2~bﬁ@%%@ﬁ%@%ﬁﬁjm CrurSp<<0. 15+ | ZEALISNOBE | 55 cy<
TE 8 D 2R WL 2-G-U Cru*Sp

[. REBLOHEOEE N OVEE 6 U THRIEE L, TAREET A GRS E,
II. RKEBLOHEOEE) K OVEE (I L CHRIEE L, UIRET L GERMEN S 5,
M. REBLOHIZE O EE) K OEE 126 U CRIEE L, UTAEET 2 fERrE MK,
(%) BEGWRMND TICETHREOKFMOMBICNT2LEMERT, WThORPIZEZRYT S158
ThHoTH., BIEICEEINZLORHENHESNTZ DO TITIRWIREY X, EESBEEDODREME
[Zxt LTIXEBENELIBFNIEILLEL ., BIET EEFNIEELL,
(%) EEICRANRZWEGS (IEZ L TR NGALE)

1 IRZWEIS0=0.8, &5 2 KZWriE1S0=0.6, Z=1.0, G=1.0, U=1.0, Rt=1.0&9 %,




